CHRIS MCKINNEY

SCENIC DESIGN - DRAFTING - MODELING
I

386 - 237 -4302

MCKINNEYDESIGN@QHOTMAIL.COM
CHRISMCKINNEYDESIGN.COM

PORTFOLIO



THEME PARKS/ ZOO
PROJECTS

UNIVERSAL’S VOLCANO BAY
-CREATING CONSTRUCTION DOCUMENTATION FOR VARIOUS SCENIC ELEMENTS

-3D SCANNING ROCK WORK MODELS FOR DIGITIZATION
-AREA DEVELOPMENT AND VOLCANO ROCK WORK COORDINATION AND DRAFTING

UNIVERSAL’S HOLIDAY PARADE FEATURING MACY S

-CONSTRUCTION DRAWINGS FOR TOY TRAIN AND SHREK FLOATS
-ELEMENT COORDINATION ON VARIOUS FLOATS

SEAWORLD SAN DIEGO ORCA STAGE REVAMP

-COORDINATION OF NASSAL SCOPE WITH EXISTING AND NEW FACILITY INFRASTRUCTURE
-DESIGN DEVELOPMENT DRAWINGS FOR NEW STAGE ELEMENTS

i Ny T ﬁlmﬁm\nmw‘lﬁ%
JACKSONVILLE ZOO AFRICAN FOREST TREE EXHIBIT

-DESIGN DEVELOPMENT DRAWINGS AND COORDINATION WITH ENGINEERING, FABRICATION VENDORS, AND CLIENT




1-1/2° X 1-1/2" X .083
316L SS TUBE

12° e
REMOVABLE PANEL

707,

] 1-1/2" X 1-1/2" X .083
7 INSIDE LID FINISH 2161 SS TUBE
M 202: MATTE WHITE K

TION SURFACE " ALUM —

T /N \ ( : ) ISO SECTION DETAIL- NET BOX- REMOVABLE PANEL ATTACHMENT
REVEN SC iE3

TEAS. w-—— SAFETY NET DEPLOYMENT BOX:
- SECTION DETAIL

-~
“d

ACE MOUNTING PLATE
7 ALUM

STACKED ALUM RING

UT ALUM. PLATE W/ RABS
R

BEAM- SE

B
| S ——"

j——— PROJECTOR POWER PLUGGED INTO J

¥+ ROLLED ALUM. OUTER CLADDING

\
| MEANWELL AC/D

DIGI KEY #- 1866-335

P#- LRS-50-24

[ SANYO DENKI AMERICAINC

PWM CONTROL BOX

MOUSER KEY # 978-9PC8666X-5001

NOTE:FLAT SITTING AREAS
TO BE CARVED INTO TOP
OF BRANCHES THROUGH OUT

2

%’ ALUM. POWER SUPPLY MOUNTING PLATE

MTD. TO INTERNAL FRAMING

96 WATT 12 MMING POWER SUPPLY
EL Driver-96-24D-NA

NC CUT EGG CRATE ALUM. INTERNAL FRAMING

ANIMAL ENRICHMENT
KEEPER PASS-THROUGH
LOCATION

i PFROJECTION DATA
KEEPER ENTRANCE

ENKI AME!
2 INTO EXHIBIT

BLOWER 32MM CTAC y Y CNC CUT ALUM. BOTTOM RING

MAIN ENTRY
INTO TREE

ORMANCE 2835 L
ENVIROMENTAL
AROUND

TALL CYLINDER- OVERALL SECTION

112"« 10"

MAKEUP DISPLAY:
PROJECTION CANISTER SECTION

T
S

( : )TREE SHOTCRETE MATRIX AND SUBSTRUCTURE- EAST ELEVATION
SCALE &

ANIMAL TREE EXHIBIT:
EXTERIOR ELEVATION

~

4'-6"
4'-1 3/4"
8-32 TAPPING INSERT -
- ~ 1/2" FOOD GRADE PERF. SHEET
$S MC#95807A100 S—— 1/ Ut SLIDING LID 2-0 3/4*
(CENTERED ON VERTICAL) 2 Lo = T-1/4"ANGLE
1'-8 3/4" T 1

1/4"-20 X 1* MACHINE
SCREW
BUTTON HEAD 316 SS

A
1-1/2" X 1-1/2" X

1-1/4" ANGLE

3 S 1-1/2" X 1-1/2" X
316L SS TUBE 5

1/2" FOOD GRADE 316L SS TUBE
UHMW CLADDING

- 1/2" FOOD GRADE
UHMW CLADDING

- PERFORATED 55 2
£\ SHEET11GAW/ s J PERFORATED SS
1/4 OPENINGS ; 5220 : SHEET 11 GA W/

\ 1/4* OPENINGS

3'-9 3/4%
PERF. SHEET

A Nt
> 1-1/4" X 1-1/4"
ANGLE 316 SS

8'-8" OVERALL

~1/4" ANGLE

SCALE 112 = 10'

6'-0 1/4" THREADED INSERT
6'-3 3/4" THREADED INSERT

1-1/2" X 1-1/2" X
08!
™
1-1/2" X 1-1/2" X .083 3161 SS TUBE
. 316L SS TUBE
APPROX. REQ. LEG TRIM HEIGHT - 1/2°-13 S§ NUT 127 PvC
ATTACHED TO SS FRAME CLADDING
W/ DRILL THROUGH FOR SWIVEL 2N —
M HRI
IOUNT THREAD 10
1/2*-13 X 2* =
316 S5 SWIVEL |
|

LEVELING MOUNT
MC# 6111K124

0242001

2'-9 15/16" THREADED INSERT
3'-1 7/16" THREADED INSERT

2'-8" THREADED INSERT

PERFORATED SS
SHEET 11 GA W/
1/4" OPENINGS

DETAIL- FEED BOX LE!
SCALE: HALF

50"

6'-11/2"

( : )FRONT ELEVATION- BOEING WALL- FRAMING DETAIL
2" HOLE FOR VENT - MC#2016K3 WL SR R T
PERFORATED SS |

4'-0 3/4" SHEET 11 GA W/ 316L SS TUBE
1/4" OPENINGS

1/2" FOOD GRADE
UHMW CLADDING

1-1/2° X 1-1/2" X
83

6 11/16"
THREADED INSERT

—— 1/4-20 X 1" MACHINE SCREW
IR — BUTTON HEAD 316 SS

] S —— 1-1/4" X 1-1/4"
=3 ANGLE 316 SS
[ S W/ 3/16" DRILL THRU

[ FOR MACHINE SCREW
:;5 "S- 1/4"-20 THIN HEX
2'-0 3/8" . S NUT- 316 SS-

3/ 4" REMOVABLE WELDED TO ANGLE

PLYWOOD TOPPER 3-11 18" [NOTE: BUILD 3 FEED BOXES

ONNECTION DETAI
SECUF:;IDII;:I:(Q)OFmMEI; PLAN- BOEING WAL L- FRAMING DETAIL % | ALL METAL AND FASTENERS MUST BE 316 |
< :) SCALE 1 1£" = 10" %

| STAINLESS STEEL
PIN-IN-TORX S5 MACHINE SCREW

WHALE FEED BOX DETAILS
VIDEO DISPLAY WALL FRAMING

7/8"




OPEN FOR ACCESS TO
INSTALL/SECURE TO FACIUITY
CURVED WOOD s
CASE FRONT
SCREWS W/
THREADED

INSERTS- THRU
ACRYLIC BACKING
INTO 3/4" PLY .
STRUCTURE FRAMING AS REQ'D
ALLOWANCE
FOR LIGHTING

111/8*

PAINTED CASE
INTERIOR

11 1/2*

I

ALL THREAD TO BE
GLASSED INTO FRP

BELL 1/4" CURVED

ACRYLIC W/ PERF
WINDOW GRAPHIC

' OVERALL

¢

')

12

ALUMINUM TUBE N
BENDING TEMPLATE WINDOW

TO BE PROVIDED

VIEWING WINDOW HEIGHT

ACRYUC \

3 - BACKING =\ o= PROP T.B.D. (BY
"\ (ACRYLIC \ OTHERS)

MEETS EDGES) '

OVERSIZED = : Yo RV RISS
WASHER ‘\V/f v '. ACCESS DOOR
NUT © N A W/ 2" PIANO HINGE

3/4” PLY RIBS
/ (BOTH SIDES OF CASE)

CCESS DOOR

=
6'-6 3/8"
7'-4"

PROP CASE FRONT ELEVATION
SCALE: 1 =10 2

ACCESS DOOR
W/ 2" PIANO MINGE
(BOTH SIDES OF CASE)

8 7/16" :
~ ~ SECURE TO FACILITY FLOOR-

————— BLOCK AS REQ'D
6'-4 13/16" -

BELL SECTION L\ vewime Winoow o SecTowTne

=19

L ALRVJLO /ERALL

L LA>E okaA L

THEMED ELEMENT DETAIL
MILLWORK

6 3/4" /- 18-8 S5 PRESS-IN
/| NUT FOR
5/16"-8 BOLT MC#
2 9/16" 96439A740
PLYWOOD (BY OTHERS) —_ COUNTER SUNK
INTO ALUMINUM

1/2" ALUMINUM —_ ) FLUSH WITH
A BOTTOM

3/16" ALUMINUM —__

Em————— |- 18-8 SS WASHER
1/8" ALUMINUM —_ St 4 - FOR 5/16" SCREW
MOUNTED T0 DECK —Z 2 > 1MC# 96765A145

: 5/16" X 2" LAG SCREW <]

s FOR WOOD E z T 5/16"-18 X 1" SS
/_ MC# 92371A525 TYP. —— FULLY THREADED
- 34" PLYDECKING MEDIUM
STRENGTH MATTE
BLACK STEEL CAP
SCREW
MC# 92965A583

PANELING BEYOND
e CHAIN LINK FENC CLADDING

W/ LIGHTING UNDER DECK
2X4 FRAMING

/1\ PLATFORMING- FRONT
Mo = Scale: 3/8" = 1'-0"

SCENIC PLATFORM ELEVATION

—— CONCAVE MAG. MAKE UP MIRROR (3)
TABLE TOP LIGHTING: FLOS
KELVIN TABLE LAMP
BLACK
CUTSOM FORMED GLASS BARRIER
MTD. TO CONVEYOR
MECHANISM SHROUD
M 929: MATTE BLACK
CONVEYOR BELT
MECHANISM W/ FABRICATED
P10, ALUM SHRUUD

GLASS STANDOFFS

M 929; WMATTE BLACK

PTD. MDF TABLE TOP

M 929: MATTE BLACH

CONVEYOR MECHANISM MOTOR
INSIDE FABRICATED ALUM SHROUD
M 929: MATTE BLACK

FABRICATED PTD. ALUM. TABLE LEGS (3)
M 929: MATTE BLAC

FRONT VIEW- CONVEYOR TABLE

1/2" =1'0"

MAKEUP CONVEYOR BELT ELEVATION




|
SET DESIG

THE LITTLE MERMAID

-The Orlando Shakespeare Theatre

-Dir. Patrick Braillard e
/:il\\

\
LY
X

2% %%

AR

PAINT ELEVATIONS

g
!r o\
'
N

SET RENDERING

FINISHED SET



WAIT UNTIL DARK
-Athens Theatre
-Dir. Tara Kromer

BRICKS: 3°X9"
W/1/4* MOTAR LINE

PAINT ELEVATION

SHOW MOMENTS

-
L 4

FINISHED SET



ER DOOMS

MODELIN

LASER MAZE CONCEPT:
GOOGLE SKETCHUP

CHARACTER SCULPT: PIXOLOGIC ZBRUSH

RIDE VEHICLE RECREATION:
RHINOCEROS 6

RIDE VEHICLE CONCEPT: VECTORWORKS

VEHICLE RECREATION:
VECTORWORKS



IR E R RIS TRRTY
BT REER) .*?i”’liiiff‘!;fu‘.;,; HEkekl

EATIISR

g

o

W

~ ol
C "')ﬂﬁ%“"‘ly -
fe “afll

;
:
i
i
5
g
:

ESCAPE ROOM RENDER: MOBILE ESCAPE USA



ILLUSTRA

HALLOWEEN PORTRAITS: DIGITAL

STORYBOARD CONCEPT: GRAPHITE

PAINTING: OIL ON CANVAS

ILLUSTRATION: PEN & INK



OEDIPUS STAGE CONCEPT MODEL

HAIR STAGE MODEL



	COVER PAGE 11x17
	ADDL PROJECTS 11x17
	DRAFTING  2 11x17
	DRAFTING 11x17
	SET DESIGN 1 11x17
	SET DESIGN 2 11x17
	MODELING 11x17
	RENDER 11x17
	ILLUSTRATION 11x17
	MODEL MAKING 11x17

